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3. Theorem & Costrai

Nts

+ AAE Lo AXY

& R
E A =7-D-hh=0.5
thin hW 0 =
D
< _4
/
: 1 Ay =n-1-h
I'.l- = . ut
L 9' X-I = Rout B h. Ao R TomO
alr ut air
X AT -0.266,/1+0.7935-V

air//




Q >125 (W )
V, =28.8(km/h)=8(m/s)
Ty = 298 =7 A

alr 1 AOUt:n.I.h )

. ” Rout —
T iy hair Aout hair =C- 600_0'2 T —0.181

T fin — 308\ . 0.266\/1+O.7935.V7
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4.Cost Function
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& Result

e Excel Solver

constant pi
ufain 28.8
Nu ) 3.66
HEA 0.001
HEIEFH 0.005
= o8 2.986144
= ex 0.825864
Re 55817.77
=L (K) 2Lfi(in)
i (out)
ZtLfi(ave)
fin
air

3.141593
&

34815
33815
343.15
308.15
29815

thermal proper‘ty at 343K water

k 0.6
ro 998.2
mu 0.001003
Cp 4186
thermal property at 298K air

k 0.02551
ro 1154
mu 0.00001849

\ariable

%

D(HEIH) 0.067912|x1
n(T7h==) 23|x2
(=zZlop 0.037273|x3
(2 0l) 0.517678|x4

Volume

Cost Funcion

0.061987
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S.50lufion & Result

e Matlab(fmincon)

| Braklam Catnm and Dacolic

Current Point
25

g s
m o

[}

Current point

1 s 3 4
Murnber of variables: 4

Step Size: 0.00026177

&

Step size
&

Iteration

Function value

01r
009

0.0
0

First-order optirnality
(3=

a1}

] 2 4 B 8 10 1

| Mm#innc

Current Function Yalue: 0.081874

L B
L

&

L L L L ¢
2 4 5 a 10 12 14
Iteration

First-order Optimality: 1.6278e-005
¢

+ R

=

Iteration
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1 Eilliur ~ S Uueimenis and Soiinygsrilauin—ri i 2 EFER A e nl =5 | DB e s, JJ@‘
File Edit Tewxt Go Cell Tools Debug Desktop Window  Help LI
NEHE| ¢ RBR20 |83 - Aas |kl -2 BRBE BB | Stk Jx O &
| -0 |+ | #1101 | x |Hf| @

(@) This file uses Cell Mode, For information, see the rapid code iteration ¥ideo. the publishing video, or help. X
1 function [c ceal=const(x) a
2z XX wariabp o - . e .

A 7T Eiliiny — SXiUnenanis anl Seiine sy iz, ] I
3 ®Wox(1) =
4 % x(2) < File Edit Text Go Cell Tools Debug Desktop » w A X
5 2 x(3) ) o o .
5 mx@ ] D H | $RB9C o3 -|MEl- >0 &
P | oonstali BB - 10 |+ | F(11 [ x || @
g - 0=126; vel
9- | tenp_air=2fl 1 function f=costix) d

10— thickocyl=f 2 — F=(a (1 1+ 20 (3040, 01 J+x (43 ;

11 S inlnerl 5 — EI'IIj|
I2|= area_in=pi
&= h_in=3.66+
14 - r_th_in=t/

Iz A% outer |0 constrainm ¢ | costm
16 - area_out=x —

17 - h_aut=10.1 cost Ln 3 Col 4
18 - r-th_out=1/(h_out+area_out);

19 XX thickness of BL XX
20 - delta = ((23+x(4)+(18.4%-6])/(1.184+velo_air_n))"0.5;

21 - s=(pi+{x(1)+28+thick_cyl))/x(2) - thick_fin:

22 X¥X costrain function XX
23 - cl11=125-(tenp_fin-temp_air)/r_th_out;:

24 - ci2)=125-(tenp_ave—tenp_fin)/r_th_in:
2F - i) =2+delta-s;

26— cegl11={tenp_ave-temp_fin)/r_th_in-{temp_fin-temp_air)/r_th_out;

27 — end

const Ln 14 Col 26
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